b3 Solving Incqualiies : Multiply & Divide Decd/iy

wWe wi\l follow $he same stravegics fo solve an inequality

0S we do for moz..:m aNn eQUaYion -

However, when we multiply or divide by o negative
numbeY WE must reverse the 309&9:2 mmm:.

ket's sec why . Consider the inequality.
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The incquality is
. no_longer truc.
TO moKe +he ineguality truc ,we must reverse Fhe
ineguolity sign.

A >=~0
mxpzmrnml.. Solve and graph’
) -55 £35 52-5 o .\.v&
-5

=S -1 =6 -5 —4-




2) A.,_wr ) -3 (-4)

y <12

3) 3x < H5x +1

-5 ~by
“8x% ¢ 13
-3 -

A NN

12 3 14

10 U




4

mv@ 305 ....1... ..c 3 Z\_D.
©0.b/l] Worksheet.



